Simple System
BOSS
———— O Produgts




Simple System

BOSS

Office Products

° Popular groups
d

a
| —

9 Strengths & Features

| —

9 Easy Installation

|

Contents

4
4
4
4
4




Slmple System BOSS

Office Products

Designed simple and efficient workspaces with the
Simple System, this furniture is constructed with durable
driftwood laminate work surfaces and Silver powder-
coated frames that will brighten in the office.

Desks are offered in L-shaped, standing and even
workstation designs to fit any workspace.

Paired with matching storage options to create unique
configurations, and rest EASY your files and belongings
are secure with lockable options , Adjustable levelers
keep your Simple products stable on every surfaces.

Add silver metal optional modesty panel or frosted plexi
divider for additional privacy.

Create Collaborative and private workspaces with
Simple system.



Simple System RNSS
—

Office Prodtfctfﬁ




Simple System ROSS
—_—

Office Productgﬂ




Slmple SyStem BOSS
_—

Office Prodtfctgn




Slmple SyStem BOSS

Office Products




Slmple SyStem BOSS
_—

Office Prodtfctgn




Slmple SyStem BOSS
_—

Office Prodtfctgn




Slmple SyStem RNSS

Office Products

Driftwood finish Frame & leg Modesty panel



Simple System BOSS

Office Products

Plexi panel Warm white laminate Silver grommet



Simple System BOSS

Office Products

Side leg(one way) Side leg(double)

Middle leg & Frame Middle leg & frame




Simple System BOSS

Office Products

48" Frame Bar 60" Frame Bar

66" Frame Bar 71" Frame Bar



Slmple SyStem RNSS

Office Products

D



Simple System BOSS

Office Products

Modesty panel

ey -—

Desk 10p




Slmple SyStem RNSS

Office Products

Frame & leg

T T

95"*4 7" 142"47"




Slmple SyStem RNSS

Office Products
¥ ‘ -

: —
BBF

Hanging BF



Simple System

Office Prodtfﬁign

® Low inventory(8 skus)




SIMPLE SYSTEM

oescrrTion szm v |2,
e
e e J—
- | e, o
J 8110 S Sow 4725 X 23.6 X1 390
T e
s103 “"“"‘ 23.6°8.3°28.5 118
™ S . B
s104 N fo. & S ot 23.6"16.5°28.5 s170
Rl o & S o020
F oo
TEa
— forime i See o et Eatatl Ll
> RN T seorrana
P p— s -
BT - YN I, =
DESCRIPTION SIZE - WDH(ON) P
. [ oo
» | o e
== s202 Dosk top 70.8020.801 165
‘wi square grommet >
Y e | SmesiTecy, -
PSR [ ——— PR -
oty o e o 5708 o aua s2em1z2 s7e
ooe 71 Motal frame bar sraraa s
P O ) E—
Ry
e
N RS- [—
1eed for gangig abie frames
= - — -

Cojntact your sdales rep or our office staff regarding configuration options.




[ /B‘ ) =301 T ma 22-1070.2 s120
= asex R a2z
/‘ as0s PR
( 20 [ oz

s40z Conterance wnie soar-zes 1140
ss03 B azrarzes s1.000
Some oracrirTIoN ) ity

a0z021 10

Trmezes sara

as0n Wardrobe vzran 200
as00 oreae cenine av-1umas sazs
P aron PR a7 s20

Contact your sales rep or our office staff regarding configuration options.

=
=
]
=
m
]
=<
]
=
m
=




Figure 1 Figure 2 Figure 3 Figure 4
<F ,’ 3
% <S
NZ \§
Figure 5 Figure 6 Figure 7 Figure 8
R
A R
<5 ¥
b
RS
Figure 11 Figure 12
%% %
Figure 15 Figure 16

(%

N

Figure 19

i

Figure 21 Figure 22 Figure 23 Figure 24
Figure 25 Figure 26 Figure 27 Figure 28

Figure 29

Figure 30




Assembly Instructions
A : L-shape manager desk with Ped & Return(30 "Desk)

3PCS

1PCS

v

12PCS

5106/5107/5108

S204

<

A

8PCS

& | & &

4PCS

6PCS

S204

S601




Assembly Instructions
A : L-shape manager desk with Ped & Return(30 "Desk)

3PCS

1PCS

v

12PCS

plate in

ward for 30" desk

plate outward for return

<

A

8PCS

& | & &

4PCS

6PCS




Assembly Instructions
A . L-shape manager desk with Ped & Return(24 "Desk)

B

H
& | & " | > e du

C D E F G

Mg#12 M8#20
4PCS 8PCS 28ET 12PCS 1PCS 1PCS

$101/5102
$101:60" 5103
5102:66"




Assembly Instructions

A . L-shape manager desk with Ped & Return(24 "Desk)

]

M8*35
6PCS

&>

Mg#12
4PCS

C

&

M8#20
8PCS

D

i

<

28ET

E

0/

12PCS

F

2

1PCS

G

<

1PCS

plate inward for 30" desk
o

6




Assembly Instructions
E . 2PF stations with side cabinet

2PCS

1PCS

24PCS

28ET

5105




E : 2PF stations with side cabinet

Assembly Instructions

B

&>

Mg#12
8PCS

C

&

M8#20
2PCS

D

A
&>

28ET

E

v

24PCS

A1

2PCS




Assembly Instructions
M 8PF stations with Return & Ped

M8*35
18PCS

C

&

M8#20

8PCS

D

<

8SET

nmm

E
'

144PCS

F

P

1PCS

G

<

8PCS

A1

5104

5105




Assembly Instructions
M 8PF stations with Return & Ped

5104

B C D E F G A1
(e lefezl (5 le
4
J 2 — $104
Pl 5104
TOA
5104 TOP
S106/S107
S104




M: 8PF stations with Return & Ped

Assembly Instructions

B C E Al
Z % nmm
M8*35 M8*12 M8*20
18PCS 32PCS 8PCS 8SET 144PCS 1PCS 8PCS 8PCS
TOP
F
TOP
“ a—B TOP
F >~
TOP
<
RN 2ET N
~~
TOP <. S
TOP ~
TORE.
<

37




Assembly Instructions
M 8PF stations with Return & Ped

8PCS

8PCS

1PCS

144PCS

8SET

417




Assembly Instructions
M 8PF stations with Return & Ped

8PCS

8PCS

1PCS

144PCS

8SET

Turn 90 degree to connect with desk top

57




Assembly Instructions
M: 8PF stations with Return & Ped

f
144PCS

D
6@ nmm
M8#20
8PCS 8SET

C

N

S
M8%12
32PCS

B

M8*35
18PCS

A




Assembly Instructions
M: 8PF stations with Return & Ped

B c E
7.
6@ mmm
M8#12 M8*20
32PCS 8PCS 8SET

F G A
v ) < <&
144PCS 1PCS 8PCS 8PCS




	EAZY
	幻灯片编号 1
	幻灯片编号 2
	幻灯片编号 3
	幻灯片编号 4
	幻灯片编号 5
	幻灯片编号 6
	幻灯片编号 7
	幻灯片编号 8
	幻灯片编号 9
	幻灯片编号 10
	幻灯片编号 11
	幻灯片编号 12
	幻灯片编号 13
	幻灯片编号 14
	幻灯片编号 15
	幻灯片编号 16
	幻灯片编号 17
	幻灯片编号 18

	NORSTAR-2018-CATALOG_Page_58-803x1024
	NORSTAR-2018-CATALOG_Page_59-803x1024
	EAZY 30  figures
	A(Main Desk with return)
	A1
	A2
	A3
	A4

	E(2FP Stations with ped)
	E1
	E2

	M(8FP stations with return and ped)
	M1
	M2
	M3
	M4
	M5
	M6
	M7


